_~Chopter 2 Review Worksheet Name: ey

A.) Tell whether the refation is a function. B.) if it Is a function, identify its domain and range. Rt isnots
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Tell whether the lines are parollel, perpendicular, or neither. You must have work to back your answer.
5) Line l:through (5, —4)and (-4, 2) 6.) Line 1: through (0. —4) and (-2, 2}
Line 2: |hmugh(-—: ~4) and (-2, -2} Line 2: through (4, -3) and (5. -6}
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Graph the equation using any method. Make it clear how you graphed the equation (show your x/y chart,
identify your slope/y-intercept, or identify your x/y intercepts).
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Write an equation in slope-intercept form AND standard form that passes through th\é given ptint améii

satisfies the given criteria, or that passes through the given points. Use integer values for A, B, mdc'ln
standard form.
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18) y=3lx+1| -2 19) y=—3lx+2/+3
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Graph the inequality in a coordinate plane. fvonslation Jp 3
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